WE (F) U Sega/Section (A) General Studies

1 N S e SR 3 s R i T dee i R & 7
(A) T 1l (1816)
(@) wifrshcichafn1050) e
(C) feieTEed weanT qreEdar (2014)
(D) WWWW‘G@I@OIS) _
Which treaty forms *the bedrock of the special and enduring relationship between India and Nepal ?
(A) Treaty of Sugauh‘(lam)
- (B) Treaty of Peace~and Friendship (1950}

(C) BBIN Cooperaﬂon Agreement (2014)
(D) Indo-Nepal Jom Comrmsswn Treaty (2015)

2. W#mﬂ%ﬂﬁzﬁrmzﬁﬁaﬁrﬁ‘wm’ﬁm%@aﬁ?

(A) FrresT (B) @ OGS (D) ST
Who composed the ‘Prayaga Prasasti” that praised the achievements of Samudragupta ?
(A) Vishakbadatta (B} Harishena (C) Kalidasa (D) Banabhatta

3. mrETewRaRd il e m R e ?
(&) ﬁﬁ%wﬁ%nwﬁaﬁtaﬁwﬁaﬂ%ﬁmﬁgqﬁﬁ%wml
(B) a—a‘ﬁ%?rmkémtwm TR TR TRt o |
© mmmﬁ@@rmaﬁrmg@awm@ e
(D) %ﬁaaﬁ%www%aﬁtﬁqwﬁaﬁaaﬁ% ST ST Y | a

Which of the following statements about Mahapadma Nanda is correct ?

(A) He founded the Nanda dynasty and issued coins reflecting his economic strength.
(B) He ruled only the region of Magadha without expanding it

(C) Greek sources describe his army as small and militarily insignificant.

(D) He was a great patron of Buddhism and sent monks to distant regions.

4. mem%wﬁmﬁm%wﬁamﬁ%mmm%ﬁﬁﬁﬁﬁwwwv
(A) @ﬂi‘wwﬁﬁw-ﬁr
(B) ﬂﬁﬁ”ﬁ?ﬁ%ﬂﬂ T
(© m%wqﬁmmmﬁq
D) @ﬁﬂﬂaaﬁ@ﬁwﬁnﬁ%ﬂ

™ :
‘What was one of th;" éigniﬁcant actions taken by Pugyamitra Sunga to assert his power as a ruler ?
(A) Introduced a new coinage system

(B) Performed the ashvamedha yajfia

(C) Signed a treaty with Chandragupta

(D) Built a large Buddhist monastery

03-FA-25/1 . (4—-AY



5.

73 Sl e T e (KIYG) fit Aserft weeft AR feer A g | mﬁwﬁmmﬁﬁ i fepg g 9

(A) T, TR, 77T, W S SR
(B) 9T, TR, T, WRTHTH aﬁwﬂaﬁ

(C) T, TFHLYE, 7T, HETAGR ST ST

(D) e, qﬁ?ﬂT TR, WITAGE aﬁra@m

The 7th Khelo India Youth Games (KIY ) were hosted for the first time in Bﬂ]ar In which cities were they

mostly conducted 7

(A) Patna, Rajgir, Gaya, Bhagalpur and Begusarai

(B) Patna, Munger, Gaya, Bhagalpur and Madhubani

(C) Patna, Muzaffarpur, Gaya, Bhagalpur and Begusarai

(D) Paina, Pumea, Gaya, Bhagalpur and Darbhanga

ot AT 3 S SRR (BET) vt & ot it o7 former i &y s off 2

(A) e e s, e e o e R A R g 2 a

(B) Tl T HTereT, SIS STTeehdl i Sretel] 3T ij:;

(C) Trrior ferehrer witreter; TR el ATt 3 fore Rorferer goftforafo st & wrifRoyeeriia safRedt =6 afreror 3t
(D) el forente Harerer; Wadt s1edtemT Faiem 7

Which ministry launched the Barefoot Technician (BFT) Project and for what purpose was it initiated ?
(A) Ministry of Rural Development; training local youth in computer skills

(B} Ministry of Panchayati Raj; promoting local governance awareness

(C) Ministry of Rural Development; training selected local individuals in cjvil engineering skills for

MGNREGA work measurement 55
(D) Ministry of Urban Development; urban infrastructure planning e
o
c_n o R %S
ToreR Y srferRies wed - E ¢ 4
(4) fiy wieme o s, () i, el i i
(©) s (D) & e atish 2
Which are the official languages of Rikar 7
(A) Hindi, Sanskrit and Urdu (B) Hindi, Maithili and Bhojpuri
p
(C) Hindi and Urdu (D) Hindi and English

2014 5 37 fareret e Torer deer & deredta et Sere st 2

(A) T o vl ®) g s

(C) i arrmm (D) AISET STERT

Which institution prepared the Five-Year Plans until its dissolution in 2014 ?
(A) National Development Council (B) Finance Commission
(C) NITI Aayog (D) Planning Commission

03-FA-25/1 (5—A)
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— 7

ﬁaatzozﬂffrﬁr mf@mﬁw@rwww%ﬁw%ﬁﬁmmwv

9.
(&) Tt Torrdt "i‘ (B) o wfered
(C) WEEHR. < @) T
Which sportspersor_ggecame the youngest-ever World Chess Champion in December 2024 7
(A) Vidit Gujrathizg, (B) Arjun Erigaisi o
(C) PraggnanandhddR. (D) Gukesh D. EehH
&
10. 2025 ﬁmﬁﬁﬁ,ﬁmﬁaﬁmm@ﬁqﬁ 27 Terihe I w61 U Foreh Teham T 2
(A) ST 8T S EURIEE
(C) Higwng Tt (D) YMESTS A1
In the 2025 Duleep Trophy, which Bihar-bom player was appointed captain of the East Zone cricket
squad 7 e
(A) Abhimanyu Edsyaran (B) Ishan Kishan
(C) Mohammed SHai (D) Shahbaz Nadeem
4t
g2
11. :ﬂﬁa 2025 ﬁzﬁmw%ﬁﬁwﬁw@rﬁmm%mﬁw@mﬁ%%ﬁwww
R
(A) FTegier ' (B) T T SFIH
(C) FTEes Tared (D) S
The 4th edition of Exercise Tiger Triumph in Aptil 2025 involved India and which other country’s armed
forces operating joinily for the first time ?
(A) Australia ‘;2; (B) United States of America
(C) United ngdom (D) Japan
:ﬁ:
i _ - . .
12. 7 T8, 2025 24{ﬁﬁﬁa@%ﬁuwmgww%ﬁ e oo, fore R Seem grr
sy fore fomaT T 92
(A) T Homera
(B) ue R FafeRcaT SATEeH TREE (ICMR)
(C) & T
(D) T[T aqgawqa‘rﬁamwm (DRDO)
Operation Abhyaas, the nationwide civil defence mock drill held on 7 May, 2025 across 244 disiricts, was
organised by which Indian body ?
(A) Ministry of Finance
(B) Indian Council of Medical Research (ICMR)
(C) Ministry of Home Affairs
(D) Defence Research and Development Organisation (DRDO)
03-FA-25/1 (6—A)




13.

14.

15.

sfieient <Y foreamelt smetes gsierit 2

(A) ﬂﬁﬁww E‘g B) FEt SeRar Tt %ﬁ
- (©) %ﬁﬁﬁ*ﬁqﬂaﬁ% L) (D) It HERRTH 0T
is the legislative admlms};'dnve capital of Sri Lanka.
(A) Galle Thirangama Pura A (B) Kandy Udarata Rajadhaniya
i - aharagama Purana
(C) Sri Jayawardenepura Kotte 1 (D) Colombo M £

FieTH — G20 39 (Hem A) 3T T 73rd (awiem B) ot firem Fifer

HicTH 4 B B
(=) ()
a. ISWART i W .
b, = TR TR
c. Tf&or anhi . sﬁm%
d. e iv. & ;}
(A) a-ii, biii, c-iv, d-i % (B) a-iii, b-if, c-iv, d-i
(C) a-, b-ifi, cii, d-iv . (D) a-iii, b-ii, ¢-i, d-iv
Match the Columns — G20 Countries (Column A) and their Currencies (Column B) :
Column A Column B
(Country) (1 Cun ency)
a. Indonesia i Peso B _—
b. China ii.  Yudot - i
c. South Africa i Rupiih
d. Mexico iv. Rand]
Options : “
(A) a-ii, b-ifi, c-iv, d-i - (B) a-iii, b-ii, ¢-iv, d-i
(C) a-i, b-iil, c-ii, d-iv (D) a-iti, b-ii, ¢-i, d-iv

ot 21 S T ST SR TR S — S S T e, el i =P e 3w o e
R

(A) Heifirar o (B) gi&or anbrer

(C) Fawts (D) it

Which country has three distinct capltals — serving as the Exeontive, Legislative and Judicial cenires of
government, respectively ?

(A) Malaysia (B) South Africa
(C) Netherlands ' (D) Bolivia

03-FA-25/1 (7—A)
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16.

17.

18,

19,

wﬁmﬁmﬁwwuﬁwnﬂa@ﬁf@zwmw%%ﬁmmﬁmwmﬁamﬁ%m@%

< B e R ROl TG TR ST TR T 2 5%
(A) TF-EET ?} (B) T
(C) ST - (D) foe

‘What is the name of the female humanoid robot de;f%loped by ISRO that was sent on an mnorewed test flight
in 2024 as a precursor to the Gaganyaan manned space mission ?

(A) Gagan-Sakhi =5 (B) Nabha-Nari

(C) Vyommitra (D) Miira

e e Tt iy e e & PR 8 & AR GRS 7
(A) T0% Th-ferd e st daTf e e B |

(B) it aawt o et T o S8 IR R |

(©) e s e it o 3k et 36 A Rg ST |

(D) Farer afs ge At ad # TR S S | O

‘Which of the following statements is correct abougﬂie tenure of members in the Legislative Council ?
(A) One-third of its members retire every second _ﬁ?;ar.

(B) All members complete their term after ten years,

(C) All members are elected to serve a texm of fivizyears.
(D) The Legislative Council gets dissoived every five years.

W@Waﬁ:ﬁwzom%mﬁa,ﬁwﬁﬁwﬁﬁﬁ?ﬁw%w%@wﬁﬁwm _
Ty | | |

(A) W 3 TSt

(B) WG & Het =rIeist .o

(C) AT ¥ et 3 e ?”i g
(D) T 5 e G e

Under the Lokpal and Lokayukias Act 2013, wiiich one of the following is not a part of the Selection
Committee for the selection of the Lokpal 7 e

(A) Vice President of India a

(B) Chief Justice of India &

(C) Leader of the Opposition in the Lok Sabha

(D) Prime Minister of India

el e et st 3 ST e O sl i s O o g el wriRea T
i TS ?

(A) TRV B) T 18RI

(C) = W AR (D) T I ATV

As per the Seventh Schedule of the Constitution of India, which of the following lists define State and
Concurrent legislative powers respectively ?

(A) Lists I and IV (B) Lists T and I
(C) Lists IT and I (D) Lists IIT and IV

03-FA-25/1 (8—A)



20.

21.

22,

23.

FreferRea o & forr Troa o1 e SRR R, v s e fSreeh siarter At & s fofe e for e gu el o
areTr iR ey S 2 R 2 |

(A) Falsenm (B) AE4 ST

(C) formre (D) ST T

Which of the following states has a campaign, ‘Pyar Ka Paudha (Plant of Love)’ asking people to gift live

plant saplings instead of cut flowers ?
(A) Sikkim (B) Madhya Pradesh

R
(C) Bihat (D) Arunachal Pradesi®. B2
-
.
TSI T G0 IR o W <5 Srearar for Rifer ) evuems s oft 2 E
(A) 30 5=, 1950 (B) 26 SHa{l, 1950 {7}
(C) 26 eI, 1949 (D) 15 30T, 1947 7
On which date was the Preamble to the Constitution of India adopted by the Constituent Assernbly ?
(A) Januvary 30, 1950 : (B) January 26, 1950
(C) November 26, 1949 (D) August 15, 1947

gt s 3 el 3 i zrfmmwﬁmaaﬁqaaﬁawwa@mw% 3 R o e

ferer T (Tt et <ivTeT) AT ERTT 2 (3
(A) T T 10% ®) TETH40% ]
(C) ST T 30% D) TR T 20% f‘j

Under Component-B of PM- KUSUM what is the share that a farmer is © \'gmred to initially pay (own
contribution), if bank finance is availed for a stand-alone solar agriculture pump ?

(A) 10% of the cost . (B) 40% of the cost ' (w

(C) 30% of the cost (D) 20% of the cost E’ﬁ

Rreffad & & a-ar arfor Resra deree 3 il WWE@%%G%W@H@@T@W%"
(A) @t wrior aiERT Bt TR S5 Sl 100% SHSTer Sa el
(B) ey e sifdrent 3 R wTed AshIR Saerss T

(C) i dael % forg 209 wftea T sfies wRary @ aRiie s (
(D) R 35 ST T et -SSR ST SR T

55

et
—r x..-" I own

BE-2-34

Which of the foflowing correctly states the aim of Project UNNATI unl:ier the Ministry of Rural
Development ?

(A) To skill 100% of all rural households under MGNREGA.

(B) To provide urban job placements for all MGNREGA workers _
(C) To train 20% of active MGNREGA workers’ households for livelihood promotion
(D) To replace MGNREGA with self-employment schemes only

03-FA-25/1 (9-A)
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24.

25,

26.

27.

28.

wﬁﬁmmﬁwmﬁmﬁqa&mﬁﬂ%mwm?

{A) 1950
(B) 1956 YE%%
(C) 1951 T '
(D) 1952
Tn which year was the First Constitutional Amendment Act passed ?
(A) 1950 ‘5-'?
(B) 1956 i
(C) 1951 “’}!
(D) 1952 : %
"o 23 g S A B ? ( T
(A) 3. =0 (B) S W
(C) T=hY (D) Zerex Breng
Who is the author of “After Twenty Years™?
(A) O. Henry . (B) J. Hemry
(C) Sekd (D) Hector Prichard

Ryt 1 & e s AT SRS 6 14 TRl 3 R et g i o s g fore d
SRR AT ? {“*_'_'j

(A) 5= 2004 g @) feh; 1967 %ﬁ
(C) aieRolt; 1992 e (D) AuTelt; 1992

Which of the followmg languages {ds the first to be added after the original 14 languages of the Eighth
Schedule and in which year was it ifi€luded ?

(A) Bodo; 2004 . (B) Sindhi; 1967

(C) Konkani; 1992 : (D) Nepali; 1992

Tt e & el el § 22 TRy T ST | 5 A e A G R 2

(A) A (B) IRl (C) ARt | (D) e

Tndia currently recognizes 22 1anguages in the Bighth Schedule. Which of these languages is nof one of
them ? ‘ O

(A) Bhojpuri (B) Sanﬁg_g]l - (C) Maithili (D) Dogri

Wm%mmﬁw%mﬁmmmﬁmﬁf@ﬁﬁ%ﬁw%?

(A) @IE (CIRUS) m ®) g5

(C) TR ' D) axri%m (ADITYA)

Which of the following js the name of a tokamalk reactor developed in India for plasma research ?
(A) CIRUS (B) Dhruva

(C) Tarapur (D) ADITYA

03-FA-25/1 (10-A)



29. T 3 ife Faven Regrat # waeror 3 HREmo qor e w1 ST R STTees & Siwia e § ?
(A) TT=34 39A  (B) 3T 484 e
(©) IT=T 43A (D) 37T 51A ?_)
Under which Article do the Directive Principles of State Policy include a duty to p@tect and improve the

errvironment ?
(A) Article 39A (B) Art:.tcle 48A
(C) Article 43A (D) Article 51A

30,  FRRYT (4) : UREIA G Ties o G % G| WerT G FeT-STeRT YT foraT TR 18y |

FRT (R) - uﬁwﬁ%ﬁmwquﬁﬁaﬁwﬁ%mﬁmﬁmmw
pIERICES

e

(A) sfvERRrT (A) Tl R, g T (R) e € |
(B) YU (A) T &, T R0 R) T B |
(C) TR (A) ST (R) AT @t ¥, W 1T (R), &ﬁW(A)EﬁF%”rW@TﬂE?W%I :

@) aqﬁqaaq(A)aﬂTW(R)amHﬁ%aﬁtwm),mm(A)#aﬁwwél :

dssertion (4) : A Constitutional Amendment Bill must be passed by both Houses o@arhament separately.
Reason (R} : The Constitution provides for 2 joint sitting of both Houses to resdfe a deadlock over a

O%.

Constitutional Amendment Bill. -
Options : o — |
(A) Assertion (A) 1s true, but Reason (R) is false. B
(B) Assertion (A) is false, but Reason (R) is true. ' :
(C) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanatlon of the o
Assertion (A).
(D) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of the
Assertion (A). o2
O
3 .
31. IRR = e qa sl et v §
(A) FIE TRR ST Flod! T T F T SRR T & Y

(B) % AT T T STl HLdr S
(C) I =afeh To st SafRremme 35 Greisifoeh e 4oy sher & |
(D) fereht =rfes 1 o b  Tetremer & R s _ i

%

The writ of Quo Warranto is issued when : ' !
(A) A government refuses to perform its duties

(B) Alaw viclates the Constitution

(C) A person holds a public office without legal authonty
(D) A person is detained without trial

03-FA-25/1 (11-A)
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32 W@%W%aﬁﬁﬁmﬁrﬁaﬁﬁ@r@?—ﬁwuﬁ%?

L ﬁméﬂ@ﬂ‘w’ﬁﬂﬁm“wﬁqﬁaﬁm%t

1 A s e e g e A e

1L mwﬁﬁmqﬁhﬁagﬁ@ﬁm%ﬁmww

Iv. s@rzomﬁq%mmww

fereRTa (:] '

o) FmaLueitl @) IRV © ¥ MR (D) Fwt [

" \Which of the following statements about the Indian Rupee symbol are correct ?

33.

34,

35.

1.  The symbol integrafes Devanagari “T and Roman “R”.

Il. The two horizontal lifies represent the national flag and “equal t0”. s1gn
OI. Tt was selecizd without any public competition.

IV. Ttwas adop% before 2010. -

'Options: P
(A) Only L, nancifgi (B) Only I and IV (C) Only], M andIV (D) OnlylandII
¢ |
e e B et et s T v, 2 el o SR (e e et 1 A A
87 | |
(A R R R (TETRTE) £

(B) S TEeT et HeT (THRATgETTS)

() TR AERE T (FRAY

(D) @1 WA S T

Which organization has announced the laumch of India’s first franchise-based shooting league, the Shooting
League of India (SLI) ? '
(A) Sports Authority of India (SAT)

(B) National Rifle"Association of India (NRAI)
(C) TIndian Olymﬁii: Association (IOA)

(D) Ministry of %ﬁu& Affairs and Sports

&%
RECIHC o T e sy, ferafernar, fRrerC i foper Tt TRE ST Tel fefer T T ?
(A) TR (B) e Tt (C) PR ®) wiTe
Vikramashila, a significant medieval Buddhist university, was founded in Bibar by which Pala emperor 7
(A) Devapala (B) Gopalal (C) Narayanapala (D) Dharmapala

ReraTC T Tl AT e o ST el & ST ohUeh e TR Mid S T o4 2

(A) 1912 (B) 1905 (C) 1935 (D) 1947
Tn which year was Bihar first separated from the Bengal Presidency to be created as a distinct province ?
(A) 1912 (B) 1905 (C) 1935 (D) 1947

03-FA-25/1 ' (12-A)



36, STCATSIT T T R e e, Rt s ffe s < g e S e s, e s T
Fyafaag?
(A) FTES : (B) @IS
(C) shfem (D) TSI
. The traditional mixed cropping system known as ‘Baranaja,’ which involves the cultivation of twelve
different crops together, is practised in which Indian state ?

(A) Uttarakband (B) Tamil Nadu
(C) Odisha (D) Rajasthan

37. e 3 fore TR § 8 S H-ET B A © 7
(A) T TeITEAT T SHare B U S SR B |
(B) 3H 7o 5 3% = u Ffve sl & e e s £
(C) @k wiafTer Fatfre el grt 8 |
(D) sweht wiivRt R sl U Rt grr g gro Freiia frgsma € |
Which of the following statements is izzcorrect for Gram Sabha ?
(A) It is the only permanent unit in Panchayati Raj system.
(B) It is constituted for a particular period of 5 years.

(C) The representatives are not-elected.
(D) Tis powers and functions are fixed by state legislature by law.,

SCOH#E#OO%

38, TlRiieT WS- IR we e s e foxmar et 2 2
(A) Hor T s feremlt kel =T e
(B) ToCH ~ATIT(TeRl
(C) It ATiERaT
©) iferer Y waieer
Which of the following is net a characteristic feature of the Indian federal syste,
(A) Division of legislative powers between Union and States
(B) Independent judiciary
(C) Dual citizenship
(D) Supremacy of the Constitution

@Q#?‘%‘OQ%

39, Wﬁa&éﬁ(mn%mﬁﬁﬁmqﬁaﬁ%a@@m%wmzmsﬁ S5 o Pt =6 9
(A) 4-50% (B) 5-00% O
(C) 6:00% (D) 7:25% ﬁ"
What repo rate did the Reserve Bank of India (RBI) set in April 2025 during its Mpnetary Policy Committee
(MPC) meeting ?
(A) 4-50% (B) 5-00%
(©) 6:00% (D) 725%

03-FA-25/1 - {13-A)




a0, Syt et o R R o :
e 1 - mwmwﬁmﬁmm (WAVES) 1 ¥ 47, 2025 T SIRUEECRIRCIA
o 1 o ST o Tt 3 T T et S A g
e P & A 8 2
(A) o 1 U 1 91 e § | |
(B) Wlm%ﬂi@wna’{r%l =
(©) Fo iU HER IR e el
(D) WIH@&@,@WHW%
Consider the fljowing statements : :
Statement I Thig World Audio-Visual & Entertaimment Summit (WAVES) was held from ! to 4 May, 2025.

Statement II : Lihe event took place at the Bharat Mandapam Convention Centre in New Delhi.
Which of the alipve statements is/axe correct 7

(A) Both Statéthent I and Statement I incorrect.

(B) Statemen#T is incorrect, but Statement 11 i correct.

(C) Both Statemnent I and Statement I correct.

(D) Statement I is correct, but Statement 11 is incortect.

41, Waﬂtﬁw%ﬁﬂawwﬁw@w%ml%éﬁ # g R o |
(A) S T wagia (B) =l G
. ©) rramm”m%r (D) T dea HEa
o The X was amended in 1966 for a major river project between India and Nepal.
(A) Joint RivérPact (B) Kosi Agreement
| ©) Mahakali%eaty (D) Water Sharing Accord
" 42, e i S st - delt ¥ e et e ?

| () ETAT LB SR e
| (B) i TS e i wam iR o Al ST
| (C) Trsfier mifefy ST Fom S Ao TR
(D) e it R R afes
Who among the following were the chief architects of modern India-Bhutan yelations ?
(A) Mahatma Gandhi and Ugyen Wangchuck
(B) Pandit Jawgharlal Nehru and His Majesty Jigme Dorji Wangchuck
(C) Rajiv Gandhi and Jigme Khesar Namgyel Wangchuck
(D) Indira Gagldhi and Jigme Singye Wangchuck

| 43, T 2025 ey v i Raana fes st 2

'- (A) Sifve Rme, - (B) aeh St

__ (©) e tedeT (D) T FEHITS
| Who won the men’s singles title at Wimbledon 2025 ? '

(A) Jannik Sinner (B) Novak Djokovic
: (C) Daniil Medvedev (D) Carlos Alcaraz

03-FA-25/1 (14—~A)



44, & st Y fre ot e 3 et A § BR e atdier O R 7

(A) 1923 (B) 1927 (C) 1932 (D) 1930
In which year did Dr. Ambedkar initiate the Temple Entry Movement at Kalaram Temple in Nashik ?
(A) 1923 (B) 1927 © 1932(5; (D) 1930
45. Wﬂﬁ%ﬁ@ﬁ&%ﬁmﬁwmﬁﬁrﬁ{ﬁgﬁeﬁ% B
(A) 12979, 1930 (B) 6 3, 1930
(C) 13T, 1930 : (D) 2 =, 1930
On which date did the historic Dandi March led by Mahatma G4hdhi commence ?
(A) March 12, 1930 (B) April 6, 1930
(C) April 1, 1930 (D) March 2, 1930

46. STY TGO o Haiy i Treried el W foEm i
1. Sk e (PM2.5) SHel # TTaUrs o TS o Tohd %ﬁtquﬂﬁﬁwwgﬁﬂﬁﬂ%ﬁ%l
I wETARRTRES U T, ﬂﬂ%ﬁ?ﬁﬁ%ﬁﬁwﬁmﬁﬁ%ﬁaﬁwﬁwm%l
[0 O SRR ﬂ)(eﬂd-vqlﬂlgﬁlﬁ@ﬁﬁw%w_?l

ST R § § FIA-HVE 7T 8 2 E
(A) e 11 (B) et BT II
(©) L, AR 1M (D) FaeEp

Consider the folloWing statements regarding air pollution :
1. Particulate matter (PM2.5) can penetrate deep into the lungs and cause respiratory problems.

II.  Carbon monoxide is a colourless, odourless gas that reduces the oxygen-carrying capacity of
blood.

0.  Sulphur dioxide is primarily emitted from volcanic erupt‘:i_‘gns.

Which of the statements above isfaze incorrect ? )
(A) T only | ®) 1 andT only
(C) L, Mand IO )1 onl?*:

47. 1917 % AR GAE, S TSI T BT Wﬁma@wrx‘@m % =15 Tomer i wrorreft ot T o fean

T T ?
(A) Tomeniear womeht (B) ARICETS! 0Tt
(C) TSt YoTTedt (D) Tt Sigiee

Which system of cultivation was abolished following the Champalan Satyagraha of 1917, Mahatma
Gandhi’s first major Satyagraha in India ?

(A) Tinkathia System B) Mahalwari System

(C) Ryotwari System (D) Permanent Settlement

03-FA-25/1 %, (15—-A)




48.

R (4) .-qﬂwéaﬁ%aa%ﬁﬁﬁﬁwﬁa%ﬁﬁﬁrwa&yﬁ%wﬁwﬁ%l -

T (R) ; T 8 1 o S, <t fRreon aﬂtﬁmﬁaﬁ,ﬁ@raﬁtmaﬂaﬁ%wﬁmﬁﬁ

g |

e :

(A) W(A)E@%,WDW(R)W%I o

(B) SR (A) SHR (R) QR R E, TG HT (R), TR (A) B e T R |

©) ARIeReT (A) TR, T HRT (R) T | _

(D) SRR (A) aﬂiﬁr{w (R) 37 T § 2 BT (R), SR (A) £ TR TS HFEE |

Assertion (4) : Tertiary sector includes only activities that directly help in producing goods.

Reason (R) : Some sgf;’yices in the tertiary sector do not directly support goods production, like teaching and

medical services.

Options : :

(A) Assertion (A) is frue, but Reason (R) is false. -

(B) Both Assertion (A) and Reason (R) are trus, but Reason (R) is not the correct explanation of the
Assertion (A). :

(C) Assertion (A) is false, but Reason (R) is true.

(D) Both AssertionzfA) and Reason (R) are true and Reason (R) is the correct explanation of the
Assertion (A). ()

)
ST 35 TS e T 95% TR e A & | Torgr W TeTRe 1w g FE T ?
(A) Tear® iﬁ (B) AN
(C) TR (D) T

Bihar accounts for approximately 95% of India’s pyrite reserves. Where is pyrite predominanﬂy mined in
Bihar ? '

{A) Rohtas {B) Bhagalpur
(C) Munger (D) Nawada

=

[+
e P e T o S P o e e o wr TS 2 -
() e SR R (UV) R i e e s St ¥ i St 3
®) T wﬁfﬁ%ﬂm%waﬁqﬁm?ﬂ%aﬂaﬁﬂﬁmwaél
(©) T (V) R sttt ST 1 g i ¥ T 0, 3% e PRt STEH I S |
(D) Hﬁ%m%ﬁﬁﬁwﬁmqu@ma@aﬁ%ﬂgaﬁél :

‘Which 6pti0n explains the correct mechanism of ozone formation at higher altitudes ?
(A) Carbon dioxide absorbs UV rays and converts into ozone molecules.

(B) Chlorofiuorocarbons react with oxygen to generate 0Zone gas.

(C) UV rays break oxygen molecules and free atoms combine with O, to form ozone.
(D) Oxygen atoms join nitrogen molecules when exposed to sunlight.

03-FA2511 : (16 -A)



51.

52.

53,

T S s w3 P Ferf it <o et S ofteh S Su-afedt 3 s o A i foe
g7

(&) st ®) o (©) T (D) =T

Which script is described as the “parent of several families and sub-families of scnp ” in India and
South-east Asia 7

(A) Brahmi - (B) Grantha (C) Kharosthi (D) Devanagari

ST S5 gy B 2016 3 ST Y Gk Ref2Ty ge were) o darieen iRt g ol 778 off ?
(A) TTEHE BTTE SfeTd, STTata <f; (B) SUT& @stl, TOga !

(C) . S g, Sursgafy i (D) <. TR g, St

The book titled ‘Citizen and Society”’, released-qn 2016 by the President of India, was authored by which
constitutional authority 7 O

(A) Mohammad Hamid Ansari, Vice Presidentsss  (B) Pranab Mukherjee, President

(C) M. Venkaiah Naidu, Vice President (D) Dr. Manmohan Singh, Prime Minister

fTierRar =i firer Shifeg

HIHH 4 &icd B
(CTEH /1) (FETH/FEIT)
a. ST e i eI
b wRFIAEE i giveT TS
c. T i, am%aeg
d Tdwe iv. TSRS
¥z | -
(A) a-i, b-ii, c-iii, d-iv (B) a-i, b-iv, c-ii, d-iii
(C) a-ii, b-iv, ¢, d-iil _ (D) a-iii, b-i, c-iv, d-ii
Match the following :
Column A Column B =
(Author/Poet) * (Book/Poem){)
a. John Milton i.  Paradise Lost\-]
b.  Sarojini Naidu il. The Golden kieskold gﬁ
¢. Homer ii. Thellind ] .
d. Robert Frost iv. The Road Not&?‘ aken
Codes : _ .
(A) a-1i, b-ii, ¢-ii, d-iv (B) a-i, b-iv, c-ii, d-iii
(C) a-ii, b-iv, c-i, d-iii : - (D) a-iii, b-i, c-iv, d-ii

03-FA-25/1 (17-A)
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54,

55.

56.

57,

58,

-Wwwﬁﬁ%ﬁmﬁé@c@w%?

(A) Tzt

@) g o

(C) el F

(D) Al

What process does the Panchayati Raj Ministry oversee in States ?

(A) Decentralisation
(B) Capacity building
(C) Urban planning
(D) Centralisation

TEERA Mmamwﬁmﬁff@aﬁﬁ%ﬁawﬁ%m QT[.,?.:

(A) SR (®) qan;

(C) =T (D) el

Tn which of the following cities did Mahavira hold his secondlgamavasarana ?
(A) Bodh Gaya B) Pama‘

(C) Pava (D) Najgpda

et i EneaT e forerer shrishe e aﬁt%ﬂ%mwﬁmw ?

(A) T 1950; TG 9

B) I 1054; e STrER

(C) AT 1955; TIET SETER STe

(D) Faeat 1952; SETEEE 6@ P

When and by whom was the Community Development Progfgifﬁme launched in India ?
(A) March 1950; Sardar Patel L)
(B) April 1954; Bhimrao Ambedkar
(C) January 1955; Lal Bahadur Shastri ﬁ:

(D) October 1952; J awaharlal Nehrm %

1093 T 733 3T 749 W & 1, w%ﬁawﬁmmwﬁ ?
(A) Iref-geRr e : (B) Br-wrlr defta S
(C) Ar-alta gl §T= (D) WHTEH G T
Following the 73rd and 74th Amendments in 1993, India introduced which type of federal struciure ?

(A) Quasi-federal structure (B) Three-tier federal structure
(C) Two-tier federal structure (D) Unitary federal structure

=,‘?

s

TR T TR e P w3 R S ® 7

(A) STTEATTAe e : (B) ﬁ:zrﬂmr

(C) S ITHET (D) w@?ﬂ:r%aw
What is the Shanti Swarup Bhatnagar Prize given in recogmt}on of ?

(A) Spiritual leadership ®) Mlhtl]:y courage

(C) Scientific research {0y Con emporary painting

03-FA-25/ (18—A)



59.

60.

61.

62.

63.

SATETETIT HeE T W e (S 3hem) et e frar mar o 2

(A) 1630, 2010 ' (B) 163, 2011

(C) 11 SHaRT, 2011 (D) 11 s, 2010
When was the Jawaharlal Nehru National Solar Mission (Solar India) launched ?
(A) 16 June, 2010 (B) 16 June, 2011

(C) 11 January, 2011 (D) 11 January, 2010

o3 ifer e S e Ty T 5 T e Tt e et ST srrferRil ok R 2024wt wHifashr T
Tieiet T Tordl T v/ 2 '

(A) T et o T o gsierR (B) ToH THEE 3R UaH ST
(C) *heTfer Fiiteht S g A EEEREEIE aﬂTQﬁfi%ﬁ
Who were awarded the 2024 Nobel Prize in Physics “for foundational discoverig§ and inventions that enable
machine learning with artificial neural networks™ ? '
(A) Pierre Agostini.and Anne L Huillier (B) Alain Aspect and An‘rég Zgilinger
(C) Katalin Karikd and Drew Weissman (D) John J. Hopfield and ‘@eoffrey Hinton
2
53 Tar % forg forer sredror = <t i fok v o0t 2 i
(A) PSLV-C25 (B) LVM3-M4
(C) LVM3-XI (D) GSLV Mk II
Which launch vehicle was used for the Chandrayaan-3 mission ?
(A) PSLV-C25 (B) LVM3-M4
(C) LYM3-X1 (D) GSLV Mk II o
&~
()
1976 %, T 35 T STehT STHRCT ST 35 R ARONTRa IR 1 9 ey Hl-Hllr:idf;fEﬂl T T ?
(A) et TG Tt (B) Tt s H
(@GRS (D) FHTEEE B <

In 1976, who was honoured with the Bharat Ratna posthumously for thei”Zxceptional service to the
nation 7

(&) Lal Bahadur Shastri (B} Morarji Desai

{C) V.V. Giri _ (D) Kumaraswamy Kamaraj

21 S, 2025 ¥ 115 SHRishs 2 Rew i fea St 3 9w Rrr e 2 52

(A) 210 (B) 150 O

(©) 175 D) 191 3

How many countries participated in the 11th International Day of Yoga on 21 Ii?;;ﬁe, 20257
(A) 210 (B) 150 ;,]

©) 175 (D) 191 3
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64, THELTHT a?rfﬁiﬁrﬁ‘cﬁti@tﬁeﬁﬁ?-w%?

65.

66l

67.

(A) I T (B) G FHeT 2
(C) s {ifsm (D) S e

What is the official state bird of Bihar ? _

(A) Great Hornbill ' (B) House Crow

(C) Indian Robin (D) House Sparrow

e T T o S e 23 a4 e AT e 3 e H T T Y
(A) m%mm@mmw
(B) TR 3% RIS T RIE
. N T .
(C) =sa-3 WWT?ZC]W e
(D) T T SR LS o T o
India’s first-ever National Space Day was celebrated on 23 August, 2024 to commemorate which historic
achievement 7 '
(A) Launch of India’s first satellite, Aryabhata
(B) Successful test of the Gaganyaan crew module
(C) Successful landing of Chandrayaan-3 on the Moon
(D) Establishment of ISRO as a space agency a5
- :

Ky~

| ®: |
SR 2025 ﬁmﬂﬁﬁm%wﬁ%mmwmﬁw-mwﬁ ?
(A) g tars Rrg e
(B) TS T e e
(©) 7 R e
D) Sereprer T o 3 fg SR
‘Which summit did Prime Minister Modi co-chair with the President of France in February 2025 ?
(A) Climate Action Summit
(B) Al Action Summit

(C) G7 Summit )
(D) Technology for D&%’velopment Sunmit
&
1408, 2025 & Wﬁﬁg@mﬁﬂm%mﬁiﬁaﬁwwﬁm 9
(A) waﬂfrasﬁa@:ql (B) =rremfd sl TR
(C) =mfd S, TS (D)~ T THE TR
Who assumed office as the 52nd Chief Justice of India on 14 May, 2025 ?
(A) Justice Sanjiv Khanna (B) Justice B.V. Nagarathna
(C) Fustice D.Y. Chandrachud (D) Justice Bhushan Ramkrishna Gavai
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68, frerieriiaa & Sepi-a qeat oht ol ok e ofiel € e el S A S W AT S ?

(A) fize — e —> i (B) shiE — T — ¥l
(C) it — Tt — HE : (D) TErEs — Faamsd — HiS
Which of the following correctly represents the sequence of Earth’s layers fropgiinnermost to outermost 7
(A) Mantle — Core — Crust (B) Core — Mantle —%Q}‘ust
(C) Crust — Mantle — Core (D) Lithosphere — Asth;ggosphere — Core
| S
(&
69. FrefRea # & wi-an fieltores 8 o s £ 9 L}%%%
(A) | et - (B) Bt
(C) Taf-wior (D) G SR
Which of the following is a secondary sector occupation ?
(A) Social work ' (B) Farming
(C) Manufacturing (D) Retail trade 3

o
{1}

70. WIRA < foRE wiehfes Seee w2021 F Fhwn Y e i ot i ﬁ%éﬁﬁﬂﬁﬁ%?ﬁ?ﬁ@@
| -

LN

T ? - B
(&) T (®B) o1& S,
(C) gigeT (D) Tt

Which cultural festival from India was added to UNESCO’s Representative List of the Intangible Cultural
Heritage of Humanity in 2021 ?

(A) Garba (B) Chhau
(C) Durga Puja © (D) Ramlila

i
[

71, T Riis & wie it deer e 24 Ao & 4w, dRay TR S e e e i Rer

g7 H
(A) SFeUTTarT ST ' (B) IrEs a
(©) Rif (D) e s W

"The Teesta-V Power Station, one of the 24 power stations owned and operated by NHPC Ltd., is located in
which Indian state ?

(A) Arunachal Pradesh (B) Uttarakhand
(C) Sikicim (D) Himachal Pradesh
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72.

73.

T4,

75.

e drerata IS (2012 - 17)a%ﬁmﬁff®ﬁﬁ@raﬁ=mmﬂﬂzﬁﬁmw ?

(A) TRl HIEH i ETe TR

() @t & %rqu%wwaﬁmﬂ

D) fﬁaqawwgaﬁmrﬁaﬁ? .

The Twelfth Five-Yjear Plan (2012 — 17) is subtitied a5 which of the following 7

(A) Inclusive Balanee and Equitable Growth

(B) Faster, More Inglusive and Sustainable Growth
(C) Sustainable Development with Equity for All -

(D) Rapid and Broad-based Economic Transformation %ﬁ
=

ﬁ%ﬁﬁmmﬁmﬁﬂatﬁﬁ%wﬁ%?

(A) ¥ . ®) @

© o (D) ¥R

Bihar shares its bQ’ﬁEer with how many Indian states ?

(A) Five . (B) Three

(C) Two - (D) Four
He

mmaﬁéﬁﬁwmﬁmﬁm%%mﬁﬁmwﬁﬁmwm
wﬁm%mw&iﬁﬁtmﬁaﬁa‘imsﬁwﬁmwm?
() T G TR

(B) form e WITE
(C) Torere <h e T ST (forer fiued AiEE)
(D) AT TR T (92T THIEH TISE)

‘Which bilingual weekly was published by the Congress from Patna to promote pairiotic sentiment during
the Civil Disobedigfice Movement and was later suppressed by the British ? ' :

(A) Bihar Satyagralia Samachar S

(B) Bihar National Herald =
(C) Bihar People’$Voice

(D) Paina Freedoﬁif‘-Gazette

28 TR, 1940 B T cATRRT Teawrg Pt T (e, Ry s Prdefy e e g o wTefiandy
farfe form 2

(A) S STl ft B) it w1 T

(C) St TSR TG (D) SRITHIET IR

‘Who began an Individual Satyagraha in Patn on 28 November, 1940, marking Bihar’s participation in anti-
war civil resistance 7 .

(A) Anugrah Narayan Sinha ~(B) Shri Krishna Sinha

(C) Dr. Rajendra Prasad ' : (D) Jayaprakash Narayan
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P
EE (@) T B e iva/Section (B) General Science & Mathematics
76. K., Cr,0, ¥ Cr i s den s

(A) +7 (B) +2 N (6 B (D) +3
The oxidation number of Cr in K,Cr,0, is :
(A)+7 B) +2 (C) +6 (D) +3
77. 3 STO7 S T e T T 0 AT TR S HeAToR ST TSI B €, 96 9 B A
STHT ST & |
B o
(_A) SR | & R
(B) Wﬁm O
(C) wHTeFT {3
D) AIET i
Molecules that share the same molecular formula but have different structural argan, gements of atoms are
known as : : o .
(A) Ions '

(B) Isotopes
(C) Isomers
(D) Allotropes

s P it e s s A Gref

(A) e (Cu) | : (B) MR (K) R = !

(C) FeT (Fe) | (D) BT (Aw) O B 4

Which of the following metals is the most reactive ? Sj i

(A) Copper (Cu) (B) Potassium (K} g

(C) Iron (Fe) - (D) Gold (Au) O @
79. Sl o e 3 S, ﬁmﬁmﬁvww@rwﬁ%aﬂtw ST SFEERL &, T STa O T Sy

YET R ? ‘

(A) TGOSl (B) TRES &

(C) T8 T AT ] | (D) T IR WG § SR PR e g |

According to Boyle’s law, if you keep the temperature of a gas constant and decrease its volume, what

happens to the pressure ? R

(A) It increases, . (B) It decreases. O

{C) It stays the same. (D) It increases first and therf decreases.
80. S arfufsman &, ﬁwwﬁm@rwﬁﬁww% f;

(A) i | (B) =i e

(C) IEE (D) Sileriterd &3

In a redox reaction, the substance that gdins electrons is said to have been :

(A) Catalyzed (B) Reduced

(C) Neutralized (D) Oxidized
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81.

82.

83.

84,

85,

e e R e oheiSs B Ternferc (ot Tt &1 7

(A) STEHS A
(B) WET-IEED E
©) srRETH g
(D) FeRE IgE
The Human Development Index was developed by : -
(A) Alfred Marshall '6
(B) Mahbub-ul-Haq O |
(C) Javed Burld
(D) Mohammad Yunus jf;
m%mﬁﬁaww%wm%WWﬁw@?ﬁ%? S
(A) SRR (B) TR 2
(C) phfm &t (D) S AT
‘What is the point inside the Earth where energy is released during an earthquake called 7
(A) Epicenter (B) Hypocenter
(C) Seismic zone - (D) Fault line
&
T AT ST 36 S 6 ST SR SR & S T T B I S & 7
(A) FTRE T (B) TR IS O
O EEEEEFE (D) sﬁawzrergﬁ
T}:ﬁ EOCkS formed by the cooling and solidiﬁcauon of lava, either on ﬂae{’surface or within the crust, ars
calied : &3
(A) Igneous rocks (B) Metamorphic rocks
(C) Sedimentary rocks _ (D) Fossiliferous rocks
W%maﬁaﬁ@ﬁﬁaﬁsﬁwﬁwf@mﬁwéﬁaﬁmma@ﬁwﬁww&
(A) TR (B) migan
(C) el A (D) - & R

What is the minimum speed called that an object must have to break free frdm the gravitational pull of a
celestial body like a planet or star ?

(A) Escape velocity : ' (B) Terminal velocit;aj:

(C) Orbital velocity (D) Free-fali velocity O
1353

ST i A IR A e

(&) R TerehrE (B) STgEfs fe=em

| (C) TR SRER . (D) ey fempe

Presence of homologous organs indicates :

(A) Divergent evolution (B) Genetic drift

(C) Random mutation . (D) Convergent evolution
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86. TEATCR T U H et I T TG hior
(&) Forar =iz 3fT o o6 e i EH S @
(B) T et i weae et 2, e e v H et g
(C) B — A & Fremereh &, SESfia TG SEAT & _ g%%
@) m@aﬂmﬂm%ﬁwmwﬁﬁwﬁ%

Tdentify the incorrect pair regarding the Himalayan river systems :
(A) Chenab —Formed by Chandra and Bhaga at Tandi

(8) Ravi — Originates in Himachal, joins Ganga near Devprayag
(C) Jhelum — Originates at-Verinag, flows through Wular Lake
(D) Satluj — Originates from Raksas Tal near Mansarovar

87. SoTHM m STCAT v el FEg i RS Sl A I A E 7

~ SO#ECO%

V2 5 1
(A) K=mv B)K = — (C) K=mv O K = - mv?
_ m 2
‘What is the correct formula for the kinetic energy of an object with mass m and velocity v ?
v2 - 1
(AYK=mv B)K = — (C)K=mv2 MK = Emvz
m
88. T g et Ry v et 3 R ST T TRor St - ol sear ¥ 0 O
(A) T ' (B) Ffeo QO
(©) s (D) G % B
Which method of heat transfer is responsible for the Sun warming the Earth ? O
(A) Conduction (B) Radiation &
(C) Advection (D) Convection

89, et 3 arrieer oY TR o i Sl ot & < e oA e i TR o et ST St SR

29 32
(A) TTHSH O
THAIHSS a

B) s
(C) avHsE e
(D) TeiEw J
oy

Which layer of Earth’s atmosphere contains the ozone layer, that absorbs most of the Sun’s harmful
ultraviolet radiation ?

(A) Thermosphere
(B) Stratosphere
(C) Troposphere
(D) Mesosphere

03-FA-25/1 (25-A)
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90.

91.

92,

93.

%4.

e o e R S e T e AT & g e, S g & e A I W g e 2

(A) FTTEA - (B) WEA .

(C) ferevoer (D)

What is the phenomenon where light bends as it passes from one medium to another, like from air to

water 7

(A) Reftaction (B) Reflection
(C) Dispersion : o (D) Diffraction

WEQ#WE@@W&WWWW@W%W%%%?

(A) T O ®T © T (D) §a
The tendency of an{,_ﬁbject to resist a change in its state of motion is called :
(A) Friction % (B) Acceleration (C) Inertia (D) Momentum
T B AT m@r{agm AR 3 TR, SUeh! SATadenTeT (4o U SIer ol ¥ TR $90o B (aiia Br 8 -
(A) 5=I9H GﬂTQ’MI.‘éa:ﬁ (B) Tl (gm)
(C) T ' (D) Z=9HH

For a simple pendulum swinging with a small amplitude, its period (the time for one complete oscillation)
is primarily determined by its

(A) Both Mass and Length : ~ (B) Angle of release _
(9] Length 52 : (D) Mass E’ﬁ
O
st o o, aﬁﬁﬁeﬁeﬁwaﬁrﬁmmmﬁw% TorerferfRerer < ivaror 3 frm i Sreoreg TROTA R
(&) |aT :4:1: (B) SeUw (C) Fsit (D) ST

Lenz’s Law, whichi:describes the direction of an induced electric current, is a direct consequence of the law
of conservation of;

(A) Momentum (B) Mass ~ {(C) Energy (D) Charge

ST TSI STHTE SRl e BTG STeBie) ot GRItar & | T et wrarel & SR < SeEi 1 SO el § S
T TR

(A) T ST ARG

(B) Sea-aTgf ﬁ@j ekt FafeRtor

(C) Wb S Geiehi et

(D) W el H:

The photoelectric e%ect demonstrates the particle-like nature of light. It describes the emission of electrons
from a material Wh& it is struck by : :

(A) Another charged particle

(B) High-frequency electromagnetic radiation

(C) A strong magnetic field
(D) A sound wave
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95.

96.

97.

98,

99,

100,

mﬁﬁﬁ,ﬁ%éﬁmw%ﬁww%?

(A) TUT : - (B) HHIERT

(C) SHHiterRT (D) Telter

In genetics; what is the term for an alternative form of a gene ?

(A) Chromosome (B) Phenotyp(la

(C) Genotype (D) Allele -

TS T A, TR e R s d e s e 7 t.

(A) S Tt (B) R (C) ¥ _'___l (D) 48
In the human digestive system, the digestion of proteins begins in which organ ?

(A) Small Intestine (B) Liver {C) Stomach _ (D) Mouth
TITSR 26T S WRT ST H5T ST W ST T 3 forg femiiem 2 ;

(A) rgaRTeh (B) HgaT

(C) viw (D) TafasH

The part of the brain 1espons1ble for mamtammg posture and balance is the :

(A) Cerebellum ®) Medulla }

(C) Pons D) Cerebrum]

e~ 14 T TR T 5 730ﬁ%lwwmmﬁﬂwwﬁ$wmﬁﬁmﬁaﬁmwﬁm
ﬁ%mwélwamaﬁwﬁ%‘?

(&) Vet Sfém - B) Wﬁﬁw
(C) Gt | (D) SgihIIrST

The half-life of Carbon-14 is approximately 5,730 years. This property is used in a technique to determine
the age of ancient organic materials. What is this technique called ?

[ElE]

(A) Radiocarbon dating (B) Thermoluminescence

(C) Stratigraphy (D) Dendrochronology

HAiVerer Sita T , ST 3Feie & SRTY ag%ﬁ%wﬁ%ﬁwwﬁww% :

(&) FheraT (B) SRmBRT (C) uftEa (D) AR

In molecular biology, the process of synthesizing an RNA. molecule[ from a DNA template is known as :
(A) Transcription (B) Replication (9] Transfogifpation (D) Translation

et 4T o STsem o e e e 9 -

(A) STt H TR T e SRR gu S w5 aRes o

(B) uferal @ 9 orer Tk rehar T e |

(C) TRRTST- TSI & 7T Yenmar o1 Sraeiiver

(D) Ter =t firgh o Rer T

What is the primary function of the xylem in a vascular plant ?

{(A) Transporting water and dissolved minerals from the roots to the leaves
(B) Transporting sugar from the leaves to the rest of the plant

(C) Absorbing light for photosynthesis

(D) Anchoring the plant in the soil

03-FA-25/1 | (27-A) .
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101. @aﬂﬁamﬁmaﬂ%mﬁ%wm@ﬁm@w%mwm36%13?@@%%3@%@?@

FREFTT? o
(&) 9 ' ®)3 *m%%
©5 D)4

The difference between a two-digit pumber and the number obtained by interchanging the positions of its
digits is 36. What is the difference between the two dieits of that number 7

(A)? (B) 3

©5 | (D)4
. i ]
102. SR T qei T £
120160+ (3+2%6)] BT
(A) 116 | | B) 12
(€ 20 ' . - (D) 108

Evaluate the expression :
120-[60+(3+2%6}]

(A) 116 ®) 12
(C) 20 «D) 108
{
103. A, B 25% S Y| B, A Y B TRm@ BRI § ? j;'__ |
(A) 13:33% 18) 2% o
(C) 30% , D) 20% e
A is 25% more than B. By what percent is B smaller than A ?
(A) 1333% (B) 22%
(C) 30% | (D) 20%

104, < FEATS o6 o< B SR 22 11 2 | o et 3 offer o A 81 2 O TE TR

(A) 16 (B) 12
(©) 18 «(D) 10
The ratio between two numbers is 2 : 11. If the diff;fEnce between the munbers is 81, find the smaller
number. ‘ ot
(A) 16 : B) 12
©18 10

105, uf 2 Tt oh ATHT 14 7 ST IR A 102, 9o & dertl e T AR |

a0 ®) 18
(€) 24 D) 22 _
If the sum of two numbers is 14 and their difference is 10, find the product of these two numbers.
{A)20 (B) 18
(C) 24 (D) 22
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106. Freriag & & S-H g wH off 3 sarrd few demmei wr oo 787 2 ekl § 2

(A) 5 ®)7
€) 6 (D) 3
Which of the following can never be an average of 3 consecutive odd numbers ?
A5 ® 7
© 6 D)3

107. TE 80 % y% T x%, 900 % 25% F TAN®, W xy TAMS : o
(A) 34,200 EJ
(B) 32,500 &
(C) 30,100 _ E’
(D) 28,125 (st
If x% of y% of 80 is same as 25% of 900, then the value of xy is : !.rsj
(A) 34,200
(B) 32,500
(C) 30,100
(D) 28,125

108. T T T SFEET 25,000 ¥ | 39 TGt e aivend & IR A GO & | 5% T 3R 40% Aigand A
| T ST 5 feherT Tl R R 2

(A) 88% f‘}
(B) 55% '
(©) 75% e
(D) 85% s

The population of a village is 25,000. One fifth are females and the rest are matle;si 5% of males and 40% of
females are uneducated. What percentage of the whole population is educated ?
(A) 88%
(B) 55%
(C) 75%
(D) 85%

109. 3 x 03 x 0-03 x 0-003 =7

(A) 0-81 :
@) 000081 -
(C) 0081 | +

(D) 0000081 ¢
3 %03 %003 x0003=2

(A) 0-81

(B) 0-00081

(©) 0:081

(D) 0-000081

I
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110, T THERH 5 T, 5 iR i 4 T E | 5 el S ofter Y 40 TR | 5wl shem g 39 A B |
@%aw?oﬁﬁaﬁwmglsa&%lwuiw&amﬁeﬂwa@w%?
(A) 25T (B) 345 &N f;
(€ 325 T (D) 28:599

A family consists of 5 men, 5 women and 4 children. The average age of the 5 men is 49 years. The average
age of the 5 women is 39 years. The average age of their 4 children is 15 years. What is the average age of

the entire Tamily ?
(A) 25 years (B) 34-5 years
(C) 32-5 years (D) 2.8-5 years

111, T GETSE T 10,000 T GUET TR | 66 HH L0v% g T & R B T | R AN R ¥ T
3%

IS | i

(A) £8,100 ’IZ,E (B) T 8,900

(C) 9,100 H (D) % 8,000

A sofa-set was bought fi ff’af 10,000. Its value depreciated at the rate of 10% per annum, Find its value after
two years. .

(A) £8,100 2 (B) 8,900

(C) 9,100 ' (D) T 8,000

112. @wﬁﬁ%yaﬁ%m10%w%a&wwmthmwﬁémﬁm13%2yaﬁé?mm4x%,€ryaﬁr
T T S |

)ik
) 10 o G

(B) 40 7 '
©) 15 . ‘%

R
(D) 20 3
A man invested X rupcéé}i_ifor y years at 10% simple interest per anpum. If the interest after 2y yeats is 4z,
find the value of . i
(a) 10
(B) 40
(©) 15
(D) 20

-6 . 2
113 (0:00243) ° + (0-0256)0;5 FEAS

(A) 0-083 N (B) 0-073
(©) 0-091 ,,'; (D) 0-081

i
The value of (000243 Tk (00256) s
(A) 0083 ti (B) 0-073
(C) 0-091 = (D) 0-081
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114, PrReg T F-T T O 2 ?

115.
|

116.

[ R S 40 S we 60 S ¥, T uRmRT 3fE 50% gt
o 05%, 1/2 F TR
0. Tt ST o 25% T R o T, 3ﬁ4ﬁﬁmﬁﬁﬁ|

(A) Fae [ SR II - f,

(B) 3=t 11 3R I ) - 3t

(C) FAT AR ' A - _ 13{%%
(D) L, &R I i: =

Which of the following statements are correct ?

I Ifanumber increases from 40 to 60, the percentage increase is 50%.
I.  0-3%is equal io 1/2. _
0L To find 25% of a number, divide it by 4.

Options :
(A) Only[and I :,
(B) Only IT and I}
(C) OnlyIand IT @
(D) I, Hand IIT '-?g;

8 AT o U TR = 91 30 forT o T vt <ot o ifeR § | 5 Redarl 3 3T o i, g witem 20 femi s
QU B v | GRER F T e Wi ge, 78 95U Tk vl st 3w v 8 dise w2

(A)3 B) 2

€ 4 _ D)1 _

A family of & people has enough stock of rice to last for 30 days. Due to the arrival of some relatives, this

food was consumed in 20 days. How many guests joined the family, assuming each person consumes the
same amount 7 o

@3 @) 2
©) 4 | i--é_)) 1 B
ke
%k
50 ST T Teh ShIere Uk Sehalk 3 WL TRt ThERTE i 5 TR T 1 ahLaT § | 125 sfmal SRy an e
Terery wrRT o QU fora i e 2 2
(#)2 | ®) 4
(C) 8 ' D) 6

A workforce of 50 men with a contractor an finish a piece of work in 5 months. In how many months can
the same work be completed by 125 men ?

(A) 2 (B) 4

€) 8 D) 6

:\,.._:__,;.I_-"';
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117. ﬁﬁ%{f@ﬁﬁ@faﬁ?—%ﬁw&ﬁaﬁwma@% ?

-3 29 9 —11
Ol ®) i © 1 ©) g
Which of the following rational numbers iSl‘_e_ﬂZ_l;.E‘; greatest ? .

. =5 29 j_::.-’_'! 9 —11
i —_— )y —— (D) ——
(8) 7 ®) —42 H © = 14 28

118, R 3, wAfer (A)asmasmwﬁ () s R | w et g

sl (4) - T 5+ /2 S v ¥

FR (R) ﬁmwﬁ@m@awmaﬂw@awm@amﬁﬁﬂ% l

(A) SHRTEHI (A) T T, T FRT AR HES

(B) SRR (A) HITHRT (R) St wr & ST PR (R), SRR (A) 3 T AT FETE |

(C) FARERIT (A) B8, T FT R) TS |

D) SR (A) 2AHT (R) S e 8, TG H Q)W(A)ﬁaﬁrmqﬁm%l

In the given guestion, a statement of Assef;ﬁg)n (A) is followed by a statement of Reason (R). Choose the

correct option. {:, /

Assertion (4) : The number 5 + \/5 is aui% étional number.

Reason (R) : The sum of a rational number_.?%}d an irrational number is always an irrational number.

(A) Assertiot (A) is false, but Reason (R) is frue.

(B) Both Assertion (A) and Reason (R): are true and Reason (R) is the correct explanation of
Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D). Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation of Assertion
(A).

119, =TS Rre SR aTeT ST oA 7 & shig ety 8 A A &Y S ?

B

1 A8 1 :
W) 12 % ® 1% (©) 155 % D) 16%
. £}
At the rate percent per annum simple interdsthwill a sum be double itself in 8 years 7
o
1 o I
{A) 12—2*% (B) 14% + © 155% (D) 16%
- |

. 82
120. Teeire 4 9 St ad Sifthat wladt ¥ | T R T 5 wRrSE i et & St w7 o T8 IT B
St 3 P & afit 4 IR TR WA E | 32 i ST B B 7 e Y, 3 Tea s @ A e
Bt ¢ - .
(A) T 1 100/9% (B) @™ : 100/9% (C) T : 9/100% (D) =™ : 9/100%
Himakshi buys toffees at a price ofT 4 each. She again buys the same amount of toffees at T 5 each. Then,
she mixes them in a basket and sells them at¥ 4 each. What will she get profit or loss ? Also, how much

percentage profit or loss will she get ? _
(A) Loss : 100/9% (B) Profit : 100/9% (C) Loss : 9/100% (D) Profit : 9/100%

03-FA-25/1 (32—-A) -



121. uﬁ:x 3R Y, 1 % SAficer 31 Trploieh GEATd 8, 797 Y, X@ra?ﬁ% ar Freffe § & - dem T 7
deT R enaIe? .
(8) X+Y (®) XY © 5 @) X(Y+1)

IFX and Y aré natural mumbers other than 1, and Y is greater than X, which of t]1¢ following represents the
largest number 7

X
Ay X+Y (B) XY : © 5 D) X(Y+ y

122. S SHE 0.1222... 1 WA (e 18 7 U

(A) 12/99 ' - | 9.1
- ®) 11/90 &

(©) 18

D) 2/15

What is the fraction equivalent of the repeating decimal 0.1222... 7
(A) 12/99

B) 11/90

(C)y 1/8

(D) 2/15

123. 36 IR ATt S T SARera dars 1 FRm e e 48 et 72 e, 96 Het oo et 6 o
3 & I & R e s esa 2 | O

SO #+

. Eiga]
(A) 20 Hlex (B) 24 HeX .C]
: R
(C) 167 D) 127X sl
Find the ]Jlghest length of a measuring stick which can be used to measure exactly th'g lengths 48 m,
72 m, 96 m and 120 m. o3
{A) 20m (B) 24m
(©) 16 m D) i2m

124. T 4RF F T 25 Tiaihe wiEy ¥ e T ¥, Rt & wore Eﬁ'cbl*-lcl T 500 § | I yeen wigREeT 6l i

T 125 IR 7, @ 9% gt wmsfeet el uma 2 x
(A) 35 (B) 30 . {© 20 (D) 25 { j
A person has money to buy 25 cycles worth ¥ 500 each. How many cycles will he be abg} to buy if each
cycle is costing % 125 more ? stk -
(A) 35 ®B) 30 ©) 20 (D) 25 "{?ﬁ
125. afe foreft s 3 g e T o Rt el 5 SivgT ST, A RO 21 ST R | e ST e 7
(A) 16 B) 10 ©) 8 (D) 18
If a number is doubled and then 5 is added, the result is 21. What is the original number ?
(A) 16 ® 10 © 8 (D) 18

03-FA-25/1 | (33-A)

- \_:_“,_.] ,.'




wiE () WfteR gaT wid/Section (C) Mental Ability Test
126. @m%aﬁwaﬁ%ﬁq%: :

K _‘E1g B

B P H : %%

A M
I

I il
A ¥ folia Far e T ? |
(A)H (B) B Q)P (o) M
Three views of a cube are given below :
K I B

o
A |B #|% p B
: )

o

I, i i
What is the lettegopposite to A?
A H H: B) B - ©FP O) M
127. ﬁm%ff@amﬁ%’at SRR (A), (B), (C) DEES] aﬁ:ﬁr%ﬂﬁﬁwuﬁﬁawwsﬁrﬁq,aﬁ
T Sy T AB 3 HT T@T TR |

D)

®) % ©

In the following question, choose the correct mirror image of the question figure from the answer figures
(A), (B), (C) and (D), when the mirror is placed along the line AB.

Question Figure : S

Adseet 2L B

s

58
(.
¢

Answer Fignresthk

pv!

e : o _
D78 NS A I - S R

03-FA-25/1 (34-A)
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128, TR FISHLT | 5 Th A, 2 570 31 o ST gt oeg 2t oft sirelt &, o ues e o g foperft o st 2

(A) 78 ' ®) 156 (C) 200 (2180
If a clock strikes once at 1 o’clock, twice at 2 o’clock and so on, how many imes Will it strike in a day ?
(A) 78 , (B) 156 (C) 200 _ (1%180.
129. ¥ HEIT I Hifg : Y
a
8 12 14 o
6 |54 |7 8 51 | 4 9 713
4 7 0
' 2
(A) 68 (B) 71 (C) 76 (), 53
',
Find the missing number : O
8 1B R B *
- .,é?:_
felidir
6 {54 |7 8 51 |4 9 715 el
4 ) 7] 9
(A) 68 ®) 71 (C) 76 (D) 53

130, THST ! T8 T Y A S o seh Rrar s s 15 v g ol 19 9T | UG G T, SHeifih Sk o8 ol g
2 T 7% fiar o 51 17 v & = o 21 nﬁﬁqﬂ@rmﬂmaﬂtmﬁ%mﬁméﬁmmﬁq
16%%%@20@%%&%%@%%@@%%%%%9 )

(A) 187 ®) 167 Q{
©) 1791 (D) 19 wr= ;

Mukesh 6lea11y remembers that his father was born after 15 March and before 19$March, while ‘hzs sister
remembers that their father was bom after 17 March and before 21 March and theynoﬂler remembers that
his birthday falls after 16 March and before 20 March. On which day does the birthday of Mukesh’s father

fall 7 .

(A) 18 March ' ~ (B) 16 March

(C) 17 March (D) 19 March
131, T Q07 T 1R e o ST A ATy o

(A) FATE (B) LIME

(C) BOND ' (D) ROPE

Which of these does not follow the same lstter pattern ?

(A) FATE _ - (B) LIME

(C) BOND . ' (D) ROPE

03-FA-2511 . (35-A)




132. Swﬁﬁﬁaﬁ%#ﬂ?'ﬁaﬂﬂﬂﬂmaﬁf%Iﬁwaﬁﬁﬁﬂ@ﬁwﬁﬁﬁmiﬁmﬁaﬂﬂﬁaﬂgzaﬁaﬁaﬁﬁ
} TS TR, 60 T ST x T A u@%ﬁaﬁﬁ@zﬁgéﬁ%lﬁﬂaﬁﬁﬁﬁqﬁaﬂwa@w CERE

, ¥ | xHIERIE? _
@42 O - (B) 30
36 O : (D) 48

A group %11?5 people has an average age of 40 yéars. A sixth person joins the group, increasing the average

age by 2 yeats. After a while, two people, aged 60 years and x years, leave the group. The new average of
N,

the remaijfing 4 people becomes 39 years, What is the value of X 7
(A) 42 (B) 30 - %%%
(C) 36 (D) 48
133, fg T RO U it foeh T ST e 3 ot el eforeer TR 6T T I |
22 4 9 16 |
(A) +, +i2 ®) + +, =
(C) —» =,Q< o+, =t :
Choose thgisequence of correct mathematical operations to balance the given equation and fill the blanks.
28 _4_ 910 :
(A +, +E | B) + + =
_ .
(C)_’—’x ' CD)-":=;+

134, T SR TR TS Y 12 ¥ H T EeRT S | R e el T Y 18 T T aena § | A S o W WA
e it o o o i PR A oty e P 3 o T 2
(A) 10+ | (B) $ ¥
(C) 72¥ - D) 164
Ram cangpaint a fence by himself in 12 hours. Shyam can paint the same fence by herself in 18 hours. If
they stattat the same time and work together without stopping, how long will it take them to paint the entire

fence ? ;7

(A) 10 %rs (B) 8 houss

(C) 7-2fagurs (D) 16 hours
{1

135. G SRS e TgeT e 7 T FH T 500 3y ST e 35 T T 240 & | B A W UGS
S S e A | e 3 T et 3 v o S A T 8 g e d e g2
(A) €440 ' (B) £60 .
(C) €120 (D) T220
Sonu and his friend Rahul went for shopping; Sonu had ¥ 500 with him, while Ratul had £ 240. Sonu spent

twice as much as Rahul on shopping. Now, Sonu has three times as much money as is left with Rahul. How
much money did Sonu spend ?

(A) T440 (B) T 60
(CyT120 _ (D) £220

03-FA-25/1 | (36 -A)



136. Frerfertian et #, form g formmedit & o T e R v o o6 Serr o v St AT 2 |

@) @
@ B4 B
6

(4) 2 B) 3 @ () 7
In the following quesﬁon; select the number which can ljéélaced atthe sign of question mark from the given |
alternatives. .;g
(6) (4) (6) Ji
u
ONENRO ©
(A) 2 B) 3 - ©9 ) 7

PR

137, ST & R et T R 7 S | e i o e i 2 s oot v 8
P, Q, Raﬁtswwﬁﬁ%‘laﬁéaﬁa‘rwﬁsqﬁﬁmwﬁﬁaﬁi o
I P, REGTRAIE # ﬁ%
. Q,SHF IR A wY| i
I R, SEardifeatiae)
i P g Wit W wer 8, A FeRifea § A B ad & 0 _
(A) R =l i e 2 | (@) e dEr ey
(© S, RE&REery (D) Q &l High mwer? |

There are 7 stairs to go from ground floor to first floor. FF]i'St stair is written as 1, second stair is written as 2 .
and so on according to same sequence. P, Q, R and S al_'re’_ four persons. Any two persons cannot be on the
o -

same stair. e
I. P is two stairs below R. 35
A
Il Qisonastairnextto S, 5]
ifa

L. R istwo stairs bé]ow S.

If P is standing at first stair, then which among the following is correct ?

{A) R is standing on the 4th stair. {(B) Fourth stair is vacant.
(C) 8 is standing below R. (D) Q is standing on the 2nd stair.

03-FA-25/1 (37-A)



138. A, B, C, DaﬂTEWaﬁqT%%“ﬂ%l C, D F e T 93T R, IR D, E%wq-eﬁéa%aﬂméaéam@tw
¥ el i MW E 1B, AR Tid A B Rm WY
(A) ESRD R
(B) B ¥R CHdT
(C) CIAREF
(D) B3R D &=

-,..,,:3
[+

A, B, C, D and E are sitting on a bench. C is §itting next to D, and D is not sitting with E who is on the left
end of the bench. C is on the third position from. the right. B is to the right of A. In which position A is

sitting ? i
{A) Between E and D @
(B) Between B and C 1
{C) Between Cand E L D

(D) Between B and D

139. = 7 sjmen § ywars {7g (9) %Wwwm ST =Y 2
5,11, 23,47, 95,7 0

[(Spe

(A) 190 L (B) 193
(C) 191 iﬁ. i (D)188
‘What value should come in place of the questlon mark (7) in the series given below 7
5,11, 23,47, 95, 7 k)
" (A) 190 ,L; (B) 193

(C) 191 _ ' ' (D) 188

140. aﬁaﬂwﬁwwm WHR ! ST T S, SieT hl o1 el AT, mﬁmmmaﬁtwaﬁ:ﬁr

gl S, T W TP R &9 =77 i & 7

&) T |
(B) TTRRT ;’:""", e
© 77 | 5

(D) =11 : ‘.Z.i_g_

If sky is called sea, sea is called water, Watérfisjca]led air, air is called cloud and cloud is called river, then
what do we drink when thirsty ? o

(A) Cloud

(B) Sky

(C) Air
(D) Water

03-FA-25/1 | (38 —A)
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141, FeTiRaa e &, et e ot St w1 e weh T Seie ¥ | Ry e ar fase € 9, 39 {oreheq Y ST

o T H T S e S R 91 3 e T el o 8 8
ATl TeRedT ; o « ; SITeIfehedl : 2 O
(A) et g
(B) TIwhH! 1
©€) I& e
(D) st i A

In the following question, the first and second words bave a certain relationship among themselves.. Qut ?f
the four given alternatives, choose that alternative as your answer which creates a similar relationship

between the third and fourth word.
Pediatrics : Children : : Geriatrics : ?
(A) Women —
(B) Adults o B
(C) Aged P
(D} Men -
',\.-]
4k
142. 1% Fopell 32 ST H, CEGI %1 DHLP e STt 2, A1 KSEA i fofar srenR frfeerr simermm 2
(A) LTGI (B) LUIH w03
(C) LVIH (D) LSGF

1f in a code language, CEGI is written as DHLP, then how is KSEA written ?
(A) LTGI (B) LUIH
€y LVIH (D) LSGF 5

STy

N3
143. S99 3 &, ‘ﬁaﬁﬁ@@aﬁﬁﬁm%ﬁﬁ%%ﬁwﬁﬁmﬁiﬁ%|”aﬁ,wﬁﬁﬁaw
et & ? i

{1
(A) sty o
(B) s .
(©) T kv
(D) 2

Pratham said, “The girl in the photo is the only daughter of the wife of my father’s only son.”
How is the girl related to Pratham ?

(A) Niece

(B} Cousin

(C) Sister

(D) Daughter

03-FA-25/1 (39-A)



144, e b T Re, Al A, Al 105 T o R i B, S AT ¥ OF T W E, HET I T 90 8, WA

145.

S 157 e e S & | ¥R fed seh < 2 3
(A) 27 L (B) 28 e
(C) 23 <J (D) 31

In a row of boys, if ;%-;who is 10th from the left and B who is 9th from the right, interchange their positions,
A became 15th frond the left. How many boys are there in the row ?

(A) 27 & (B) 28 N
(C) 23 (D) 31
2 T T AT heh |10 8 | S T TR 3 i e T g T WSS R ?
5 ' 1
&) 3¢ ® =
© — w8 D) S
18 O 12

Two dice are throvsf-’fl}imultaneously. What is the probability that the first die is greater than the second
die ? e .
_':?t.

R 5 g 1
c 1 5
© Tz )
146. Frmfaiaa srepfer & forat B 8 2
-G
g
Cl
He
:;:i:._
)
5
(A) 12 (B) 14 (©) 8 (D) 15
How many triangles are there in"the following figure ?
(A) 12 B) 14 (C) 8 D) 15
03-FA-25/1 (40-A)



147, Fror: Frerfaa we 8, 9 TS SR I AR H & T St e HIRer, Fr e SApfr o o s

@ o O T g T |
T ST :
-
? N o]
" C b
v E
. } b
o ik
IR TRl ; . i
. Ui *}v
(A) _ B) K \
o[ ¥ .
j - . ’|I
gk ' - |
Directions : In the following question, select afigure from the given four answer figures, which when placed P
in the blank space of the question figire woui_l_d)‘ Eccn:rlpletf: the pattern. ' ' !

Question Figure :

B

L e R

Answer Figures :

Lt TT T

W 7| | om

b |

© | ™
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148.'%@%%%%@%%&@?%@%%@@%:
L S GRRRR e AT |
. Py oo G e qEaT g |
I11, e S h gear e |
TV, T el A eiarg |

/ BAIY
9 _ ‘4
Frfofea i @ ST R g & 2 E
(&) ot st e TR S |

(B) @Mm%ﬁﬂeﬁﬁﬁ%w-wwmﬂsﬁﬁl

(©) Tt ot Tiigearer el &, AR SR e & |

(D) Wl diweser e e ¥ e

L

Consider the diagram and the foﬁg}:{ving statements and answer the question asked below :
1. Rectangle represents software enployees.

II. Triangle represents Rural péglijle.

III. Circle represents posi-graduates.

IV. Square represents PO.

:. = |
E

T;}:{--
Which of the following statemens|is correct ?

(A) All software employees are ffgst—graduates.

(B) Some software empl_oyees are PO along with being post-graduates.
(C) All PO are software employees, but not post-graduates.

(D) All software employees are PO.
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149, 3 Ru e e 7 o e o7 36k o7 & Foed 19T 11 R e | et aﬂtﬁﬁﬁﬁwﬁaﬁﬁﬁqaﬁtﬁuﬁ
shifre i -3 Frend shem T STIERoT ST /A & |
e
» 5 A oo 8 |
ol S e E | |
- IS TR TTEE TR T | . E%%
L. %o Hiiat wsl € |
TI. ¥ oI RATRee a1 § |
e :
(A) et I STTET T S
(B) 741 L 7T EY I STTER0T LT 3
(C) 13RI BT 1o e §
(D) e T SR T 3 _
The question given below has three statements followed by two conclusions I and TI/Gonsider the statements
and the following conclusions and decide which of the conclusion(s) follow the stafement.
Statements :
* Some chairs are tables.
* All tables are wood.
* No wood is plastic.
Conclusions :

I. Some chairs are wood.
H. No table is plastic.

Options : | o
(A) Only II follows . . %%%
(B) Neither I nor II follows

(C) BothIand II follow
(D} Only I follows

SOEH#EOQOC%

O%

SEC)#

# O O0%
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- Two aeroplanes start from the same airport. A flies 20 km South. B flies 35 km East, then turns South and
- flies 45 km, then turns to its right and flies 35 km. Where is B with respect to A now ?
(A) 25 km, South - (B) 25 ki, North
(C) 65 km, South ' (D) 65 km, North
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